L2 L1 L2 Li

T+ D B %

Ll—ﬁﬁkﬁ L-F A RKE D-hEiE -FEHAR SPR

JE45 S5 (YQZRF) Compressed gas spring

FRES | BATR REFEE| mEEE . 3 B
Product No | Stroke Max Rod Diameter | Tube Diameter End Of Rod | End Of Tube

VEE S

YQ02 180 180, ===\ 800 M8/9 M8/8.5
YQ03 90 278 10 22 230 M8/9 M8/8.5
YQ04 46 170 12 25 1000 ©M8/9 ©M8/8
YQ05 19 95.5 10 27 450 (Fa) ©M8/9 M10*1/8.5
YQ06 90 260 10 22 150 M8/9 M8/8.5
YQ07 109 265 8 18 80 M6/8 M8/8.5
YQ08 180 456 12 25 1000 M8/9 M8/8. 5
YQ09 200 451 8 18 300 (Fa) M6/8 M8/8. 5
YQ10 177 (180) 395 10 22 250 M8/9 M8/8.5
YQ11 223 585 12 25 1000 ©M8/9 M8/8.5
YQ13 215 687 12 25 720, 780, 880 (OM8/9 ©M8/8
YQ15 276 690 10 22 280, ===, 800 M8/9 M8/8. 5
YQ16 95 263 8 25 100 (Fa) M6/8 M10*1/8.5
YQ17 59 (64) 160 8 18 200, 400 M6/8 M8/8.5
YQ18 152 410 10 22 130, ===\ 630 M8/9 M8/8.5
YQ21 219 585 10 22 180, ===, 580 M8/9 M8/8.5
YQ22 289 656 8 18 220, ===\ 320 M6/8 M8/8.5
YQ23 265 812 12 25 720, 780 ©M8/9 ©M8/8
YQ24 265 782 12 25 720, 780 ©M8/9 OM8/8
YQ28 257 560 10 22 200, ===\ 600 M8/9 M8/8.5
YQ32 321 710 10 22 380 M8/9 M8/8.5
YQ34 227 651 10 22 300 M8/9 ©M8/8
YQ36 200 460 8 18 60, 70, 100(Fa) M6/8 M8/8.5
YQ38 175 405 8 18 190 (Fa) \ M8/8. 5
YQ39 133 (140) 310 8 18 50, 60, 80(Fa) M6/8 M8/8.5
YQ40 60 157 12 27 350 M10*1/9 M10*1/8.5
YQ41 184 438 8 18 300 M6/8 OM8/8
YQ43 198 (200) 435 8 18 150, 200, 260 M6/8 M8/8. 5
YQ44 150 (152) 340 10 22 100 (Fa) , ===\ 300 M8/9 M8/8. 5
YQ46 227 585 10 22 480, ===, 1000 M8/9 M8/8.5
YQ47 199 460 10 22 200, ===, 900 M8/9 M8/8.5
YQ48 63 (64) 176 10 22 530 ©M8/9 ©M8/8
YQ50 120 285 10 22 200 M8/9 M8/8.5
YQ51 205 485 8 18 100, 150 M6/8 M8/8.5
YQ52 320 795 10 22 350, 450, 550 M8/9 M8/8.5

L=HL R BE R ZEFTR AR R, () WORTRZERHI IR E, OARERAIRLL
TEF'%JKT” ML 5 4 B 4T ZE AT AR R+ P e Sk o B 1



E45 % (YQRS) Compressed gas spring

PR | BATE REMEE| @HER - o il
Product No | Stroke Max Rod Diameter | Tube Diameter End Of Rod | End Of Tube

YQ53 8 300, 400 ©M6/8 OM8/8
YQ54 58 183 8 18 250 ©M6/8 ©M8/8
YQ55 180 450 10 22 350 ©M8/9 ©M8/8
YQ56 220 519 10 22 270, 410, 600, 750 OM8/9 ©M8/8
YQ57 223 515 12 25 750, 850, 1000, 1200 OM8/9 OM8/8
YQ58 180 415 10 22 880 ©M8/9 ©M8/8
YQ59 21 81 6 14 70 ©M5/6 ® 6X*10*3
YQ61 80 230 6 14 80, 150 OM5/6 ® 6*10%*3
YQ62 100 290 6 14 30 M5/6 M8/8.5
YQ63 29 90 6 14 70 ©M5/6 ® 6*10%3
YQ64 54 180 6 14 50 M5/6 M8/8. 5
YQ67 48 129 6 14 120 M5/6 ® 6*10*3
YQ68 60 207.5 10 22 \ M8/9 M8/8.5
YQ69 81 (91) 209 8 18 140 (Fa) M6/8 M8/8. 5
YQ70 140 345 10 22 250 ©M8/9 ©M8/8
YQ72 345 770 10 22 500, 600 ©M8/9 ©M8/8
YQ73 188 450 10 22 280 M8/9 M8/8.5
YQ74 284 705 10 22 380, 420, 550 M8/9 M8/8.5
YQ75 500 1120 8 18 180 M6/8 M8/8. 5
YQ78 227 524 10 22 450 M8/9 M8/8.5
YQ79 161 (180) 390 10 22 250, 420 ©M8/9 ©M8/8
YQ80 121 (140) 310 10 22 200, 250 ©M8/9 OM8/8
YQ81 220 640 10 22 560 (Fa) ©M8/9 ©M8/8
YQ82 220 628 10 22 520 (Fa) ©M8/9 ©M8/8
YQ83 122 320 10 22 630, 800 M8/9 M8/8.5
YQ84 282 633 10 22 402, 800(Fa) ©OM8/9 OM8/8
YQ85 89 215 6 14 35, 55, 80(Fa) M5/6 M8/8. 5
YQ86 60 164 6 14 45, 65, 110(Fa) M5/6 M8/8.5
YQ90 361 770 10 22 180 ©M8/9 M8/8.5
YQ92 337 815 10 22 550 M8/9 M8/8. 5
YQ93 197 (207) 450 10 22 200 M8/9 M8/8. 5
YQ94 170 385 8 18 200 M6/8 M8/8.5
YQ95 137 (140) 314 8 18 50 (Fa) M6/8 M8/8.5
YQ103 219 490 10 22 120, ===, 400 M8/9 M8/8.5
YQ107 29 99 6 14 80 ©M5/6 O 6X*10*3
YQ111 180 505 10 22 450 M8/9 M8/8.5
YQ112 170 380 10 22 500 M8/9 M8/8.5
YQ161 135 313 8 18 50. 155, 200 (Fa) M6/8 M8/8. 5

L=HL R BE R ZEFTR AR R, () WORTRZERHI IR E, OARERAIRLL
TEF'%JKT” ML 5 4 B 4T ZE AT AR R+ P e Sk o B 2



E45 % (YQRS) Compressed gas spring

PR | BATE REMEE| @HER - o il
Product No | Stroke Max Rod Diameter | Tube Diameter End Of Rod | End Of Tube

Y0202 10 120, ===, 300 M8/9 M8/8. 5
Y0204 335 (337) 710 10 22 150, ===, 480 M8/9 M8/8. 5
Y0205 276 610 10 22 600, 650  M8/9 M8/8.5
YQ302 152 365 10 22 200, 800  M8/9 M8/8.5
YQ303 60 165 6 14 60 OM5/6 © 6%10%3
YQ305 186 (199) 450 10 22 500 M8/9 OM8/8
YQ306 122 450 10 22 850 M8/9 Om8/8
YQ308 160 385 10 22 500 M8/9 ©M8/8
YQ315 249 637 10 22 500 M8/9 M8/8.5
YQ319 249 614 10 22 500 M8/9 OM8/8
Y0320 249 632 10 22 300 M8/9 OM8/8
Y0321 229 565 8 18 50 M6/8 M8/8.5
YQ322 276 660 14 27 1225, 1400(Fa) OM8/9 ©M8/8
YQ323 153 342.5 8 18 325, 350(Fa) OOM5/8 6. 3%13%3
YQ325 40 107 6 14 55 (Fa) M5/6 M8/8.5
Y0327 70 188 6 14 140 M5/6 ®© 6%10%3
Y0328 56 140 6 14 80 (Fa) M5/6 M8/8.5
YQ329 70 150 12 25 1010 (Fa) M8/9 EHI R
YQ330 190 473 6 14 55 M5/6 M8/8.5
YQ331 140 327 6 14 35 (Fa) M5/6 M8/8.5
Y0332 70 173 6 14 35 (Fa) M5/6 M8/8.5
Y0333 209 477 8 18 440 M6/8 M8/8.5
YQ334 100 255 6 14 240 (Fa) M5/6 M8/8.5
YQ335 30 102 6 14 150 (Fa) M5/6 ®© 6%10%6
YQ336 50 130 8 18 300 OM6/8 O 7¥10%4
YQ337 70 167 6 14 50 (Fa) M5/6 M8/8.5
YQ338 113(120) 270 8 18 200 (Fa) M6/8 M8/8.5
YQ339 203 560 8 18 120 M6/8 M8/8.5
YQ341 227 514.5 10 22 450, 550, 700 M8/9 M8/8.5
Y0342 293 624 8 18 100 M6/8 ©8. 2%¥16%5
Y0343 405 862.5 14 27 1200 M8/9 M8/8.5
YQ344 61 187 8 18 100 OM6/8 8. 2%16%5
YQ345 109 255 8 18 70 (F1) . 140 (Fa) M6/8 M8/8.5
YQ346 228 515 10 22 795 (Fa) OM8/9 Om8/8
YQ349 184 440 8 18 100 M6/8 M8/8.5
YQ350 209 524 8 18 360 (Fa) M6/8 M8/8.5
YQ351 135 328 8 18 95 (Fa) M6/8 M8/8.5
YQ352 161 (170) 368 8 18 95 (Fa) M6/8 M8/8.5
YQ353 54 (56) 136 6 14 60 (Fa) M5/6 © 6%10%3
YQ400 188 424 10 22 100, ===, 950 M8/9 M8/8. 5
YQ401 202 434 10 22 150, ==, 950 M8/9 M8/8. 5

L=HL R BE R ZEFTR AR R, () WORTRZERHI IR E, OARERAIRLL
TEF'%JKT” ML 5 4 B 4T ZE AT AR R+ P e Sk o B 3



JE4a 5545 (YQARS) Compressed gas spring

FREE | BAfR RENER| EHER - o e
Product No | Stroke Max Rod Diameter | Tube Diameter End Of Rod | End Of Tube

YQ402 264 (267) 150, ===, 950 M8/9 M8/8.5
YQ403 335 (337) 710 10 22 200, --=, 700 M8/9 M8/8.5
YQ02A 184 460 8 18 130, ===\ 530 Mé6/8 M8/8.5
YQ15A 269 690 8 18 280, ===\ 600 M6/8 M8/8.5
YQ18A 170 410 8 18 130, ===, 530 Mé6/8 M8/8.5
YQ21A 224 585 8 18 130, ===, 530 Mé6/8 M8/8.5

T LRI AR AT AR, () WORTEEAT R, ORRNIRLL
AR PR A R = K 7 AT R P+ A i 22 S o 4



L2 Li L2 Li

Ee—rc-——-p EmeEm—
Ll—xﬁlﬁ'&}i L-EEAT R E D AR d—‘;‘?g’ﬁ‘ﬁ;i S-4T#2

B854 %E (YQZRF) Compressed gas spring

FRES | BATR BERER| EREE | oo 3 B
Product No | Stroke Max Rod Diameter | Tube Diameter End Of Rod | End Of Tube

VEZN

YQO1 750, 800, 900, 1000 M8/9 M8/8. 5
YQ02 180 460 10 22 600, 750 M8/9 M8/8.5
YQ21 219 585 10 22 600, 900 M8/9 M8/8. 5
YQ35 207 460 10 22 200, ===, 600 M8/9 M8/8.5
YQ57 223 515 12 25 1300 ©M8/9 ©M8/8
YQ101 215 480 10 22 400 M8/9 M8/8.5
YQ102 249 540 10 22 100, ---, 900 M8/9 M8/8.5
YQ103 224 490 8 18 120, ===, 450 Mé6/8 M8/8. 5
YQ105 298 640 10 22 250, 350, 400, 450 M8/9 M8/8. 5
YQ106 257 555 10 22 200, 250 M8/9 M8/8.5
YQ107 29 99 6 14 60, 100 ©OM5/6 @ 6*%10%*3
YQ108 267 590 10 22 450 M8/9 M8/8. 5
YQ109 100 235 6 14 20, 30, 70 M5/6 M8/8. 5
YQ110 175 390 6 14 80 M5/6 M8/8.5
YQ111 180 505 10 22 500, 600, 800 M8/9 M8/8.5
YQ112 170 380 10 22 100, ---, 450 M8/9 M8/8.5
YQ114 21 76 6 14 90, 120, 140, 200 OM5/6 ® 6%10%3
YQ115 133(135) 310 8 18 130, ===, 450 Mé6/8 M8/8.5
YQ116 259 570 10 22 180, 260 M8/9 M8/8. 5
YQ117 180 500 10 22 650, 750, 850 M8/9 M8/8. 5
YQ118 304 660 10 22 350, 500 M8/9 M8/8. 5
YQ119 39 (40) 105 6 14 60. 70, 80. 100 ©OM5/6 ® 6%10%*3
YQ120 227 510 10 22 300, ---, 900 M8/9 M8/8.5
YQ121 170 380 8 18 300 M6/8 M8/8. 5
YQ123 40 109 6 14 65 ©OM5/6 ® 6%10%3
YQ124 227 500 10 22 300, 400, 450, 650 M8/9 M8/8. 5
Y0204 335 (337) 710 10 22 250, ===, 650 M8/9 M8/8.5

L=HL R BE R ZEFTR AR R, () WORTRZERHI IR E, OARERAIRLL
TEF'E{J” ML 5 4 B 4T ZE AT AR R+ P e Sk o B 1



